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Que-1  Choose the correct Answer From the following . ) [10 Marks]
1] Entropy changes are always in ir-reversibie reaction.
a) increases ‘ b} decreases ¢) remains zero d} remains constant
2] Chemical reactions oceurs in ]aboratory are normally type.
a} isochoric b) isobaric ¢) isothermic d) adiabatic
3] Which of the following is colligative property?
a) decreases in vapour pressure b} osmotic pressure
¢) elevation in boiling point d) given all
41} Which is eorrect for concentration cell?
a)Ee=0 b)E=o0 fr=1 dDE=1
5] Which type of electrode is Calomel electrode?
a) metal-metal ion b) meta{-insokuble salt ¢) redox d) none of these
6] Which of the following is weak electrolyte? ‘ )
a) HCI b} H2C03 ¢} HNC3 : d) HI
7] is a correct formula for equivalent conductance.
a) AC = 1000K bYA/e = 1000 K ¢) AC = 100xK d) MK =100.C
8] For which electrolyte, graph of A->vC is straight line. ‘
a) KCi b) CH3COOH ¢) NH4OH d) HCOOH
9] Due to association, value of Van't Hoff's factor
a) increases b) deecreases ¢} remains zero d) remains
constant
10] Sum of the transference nimbers of ions present in any electrolyte is
a) > i b) <1 c)=0 g) =1
Que.-2 Give the answeras required " [08 Marks]

1] Work is a state function (True/False)

2] Surface Tension is a property.

4] Combination of two different solution isa formation of concentration cell (True/False)
4] ____reaction takes place on Anode.

5] EClis a electrolyte {True/False)

6].____isthe symbol for Molar Conductance.

7] Benzoie Acid shows association in Benzene (True/False)

8]___ valueofanysolution depends on the size of catien or anion.

Que-3  Answer the following guestions in Short (Any Ten) {20 Marks]

1] Define; i) state function ii} isochoric changes

2] Write ¢ limitations of first law of thermodynamics

4] Give Raoult’s law and write the equation and explain all terms present in this equation,
4] What is electrode concentration cell? Give one example of it.

5] Define: Molar Conductance and Ionic Mobility

6] Give the symbolic representation and Cell Reaction of Daniel cell,

7] An aqueous solution of a non-volatile solute boils at 100.25 oC, At what temperature would it fridge?
8] Derive the relation between Van't Hoff's factor and degree of dissociation.

9] Give the-detail of measurement of Cell-Potential by null point method.

10] Explain: The Morse-Frazer Method for measurement of osmotic pressure ]
11] Derive the equation for Entropy change during an isothermal expansion of an ideal gas
12] Write a short-note on Calomel Electrode
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Que-4 Answer the following question in Brief [Any Four) [32 Marks]

1] Define the term Gibbs free energy. How is each of these terms related to maximum work that
can be done by a system during a given change?

2] Discuss in detail the Carnot Cycle and hence show that the net work done is equal to the net heat
absorbed for a cyclic process.

3] Derive the relation for vapour pressure lowering

4] Derive the equation for caleulating osmotic pressure

5] Explain principles of conducto-metric titrations and explain titration of mixture of weak acid and strong
acid against strong base

6] i) Calculate Ionic Strength of 0.2 M K,s0, if} Caleulate the molar conductance of 0,005 M Aqueous

solution of CaCle. [Specific Conductance of CaClz2 is 0.1204 'mr1]

71 What is called transference number? Give the factors affecting on it and Explain Hittorf's Method to determine
transference number,

8] Write a Short-note: Ionic Mobility
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